““““““““““““““““““““

3) (@)"=a""

4) (a-b)"=a"-b"

(5) (ﬂ) _a
b b"

6) a*=1
D am =L
a

® an =N = (¥a)
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X £ (Ca>0, a#l)

(D) #Ha'=x, Wy=log,x
(2) log,a=1, log,1=0, Ine=1, Inl=0

(3) log,(x-y)=log,x+log, y
x

(4) log,—=log, x—log,y
y

(5) log,x" =blog, x

(6) | @ %/ | RIKp| 183155
P logax=10g—”x
log, a
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QY

(2>

(3

4

(5

(6)

P

(8

LISV AN

sinx+cos’x=1

1+ tan® x =sec’ x

1+cot’ x=csc’ x

sin2x =2sin xcos x

cos2x =cos’ x —sin’ x =1-2sin*x =2cos’ x — 1

sin

x
cos’ =
2

,x _l-cosx

2

_1+cosx

2



SEHRE BIRAAE

x l-cosx

(9) tan— -
2 sinx
. . +y . x-—
10 smx—smy:ZCosx Ysint 2
2 2
. X4y . x-y
(11) cosx—cosy =-2sin sin

12

(135

14>

sinxcos y = %[sin(x +p)+sin(x—y)]
1
COSXCOS Y = E[cos(x + y)+cos(x — y)]

sinxsin y = —%[cos(x + y)—cos(x — y)]

] |z
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(LI EVEE A

% ik 1E5Z K% EY &1
Jica (sin ) (cos ) (tan) (cot)
0o | 0 0 1 0 | ke
oz 1 3 3
30 . > > 5 B
45 | = V2 V2 1 1
4 2 2
|z 3 1 3
60 3 2 2 3 3
T
90 7 1 0 AR 0
180" | 7« 0 -1 0 AIELE
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ISR I S A i

(1) (a+b)Y=a’+2ab+b’
(2) (a-by =d* -2ab+ b’
(3) (a+b) =da’ +3a’b+3ab> +b’
(4) (a—b) =d* —3a’b+3ab* — b’
(5) @b =(a+b)a—b)
(6) @ —b*=(a—b)a* +ab+b)
(1) @ +b° =(a+b)a* —ab+b?)

(8) a"-b"=(a-b)a" "' +a"*b+a" b +--+ab" > +b"")
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0) 4o X fH

1 |a| =|—a|

2 —|a|£a£|a|

(3) |a-b|=|a| |9
@ ol
bl [p]

(5) |af<be-b<a<b
(6) |dzbea<-balazb

(1) Ja* =|d
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PRI A A I FE

1
X -1

)

(D Loz0. (e y=
O

(2) Voe20: i y=Vx+ly= | 1>
o
(3) log,o,1go, Ino,o> 0 ; (i y=10g2(2X+1),y=711 )
nx

(4) arcsing,arccosm;—1<o<1; (Wl: y=arcsin3x,

y =arccos(x+2) )
(5) tano,o# kﬂ'+%(k =0,£1,42-+) 5

(6) coto,o# k7z'(k =0,%£1,+2- )
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PPRAFTERY SEZEARAT:

QD) lirr;f(x)zA@ lirgf(x): lim 1 (x)=4

X—>-0

(2) limf(x)=A<:> lim f(x)z lim f(x)zA

X=X XXy x—=xy"
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W ULB RSy D7 T AR

(1) 4 By B i A i PR
2x-1,x>0 L
. f(x):{ 3xx<0 Zklliréf(x)

(2) BNa>18, lima =0, lima*=0; 0<a<I1H,

X—>+0 x—>—0

lim a* =0, hma = oo PINTTIAIIEERA—HE, FTEL lim ¢(x)

X—>+0

= oo i, 3R lim o) FESI7FRAEB, TR 7772 ) 78

X=X,

ZRAHIE

3 WA hm arctan x HE lim arctanx = —— ﬂﬁ/\ﬁﬁlﬂ’]

LA, FTLL lim g (x) = oo, R lim arctan g (x) 7 255 /7
[ SRARBR , AR A PR A 7 P 78 A6 A1 5
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WA ICTS Vi
% x -0 ff,
sinx ~ x e —1~x
tanx ~ x a’—1~xlna
arcsinx ~ x In(1+x)~x
arctanx ~ x m-1~%x

1,
l-cosx~—x
2

'”\/1+x—1~ix

m
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L =
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(1) O'=0

3) (@) =a"Ina

1

xlna

(5) (log,x)' =

(7) (sinx) =cosx
(9) (tanx) =sec’x

(11) (secx) =secxtanx

(13) (arcsinx)' =
1-x°

(15) (arctanx) = !
1+x

(2) (x") =mx""

4) (e') =e"

(6) (nwy=t
X

(8) (cosx) =—sinx
(10) (cotx)' =—csc’x
(12) (cscx) =—cscxcotx

1

1-x

(14) (arccosx) =—

2

(16) (arccotx) =— 5
1+x
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D [f(x)£g(x)] = (0 £g' )

) [f(x)-g(x)] = r@g(x)+ £ (x)g'(x)

SO _fgl)=f g ()
(3) {g(x)} 7O (g(x)= 0)
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U)i@ﬁf@j%$ﬁ&@:é{

Q)ﬁ@ﬁﬂﬂ%iﬁ@@:é{

xeD
f'(x)=0

xeD
f'(x)<0
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R B 2 B

Lo E

CI SR BREL S (o) FET R DX A T BE RS AR 3

(2) B R EAR T RURE U LA X, HE S
DX N —Bir SRR IE S, E SRS S AT U I — i &
B, WENTRMER, 256 PRk e —IE TR
UNIENEE

(3) SR f(x) BB AE.

5 A

(1) RS @E"G), FER SO FET5 S X ] A T
ARG

(2) BE () FER RIS, FIE e m kE
R SRR A5

(3) R S AIRRAA.
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WRAEAFER FE5) 51

BRI H 2 = S (6 0) 1R /U (X, Vo) IOFEATIR A B AT e sk
T FH, B (0 90) =0, £7(xg,3,) =0.

&A= [ (0,0 B = 5 (x0,90),C = £, (X0, %),

-

(DB AC-B* >0 B, (xg,y0) AR, B2 A<OR
S g, y0) REARME, 2 A> 00 f(xg,¥,) FEM/ME;

(2) 2 AC-B> <O}, (xo,¥0) DRMAEA, il
S (X0, v0) ARARAE

(3) HAC-B> =01, [f(xg,¥0) T NRAET S 1EFI
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HABG AKX

(1) Iadxzax+c

1
2> Jx"dx:—x”l +c  (w=-1)
u+l1

(3) J‘ldlen|x|+c
x

(4 Ja"dxzﬁa"+c

(5) [e'dv=e"+c

(6) [sinxdy =—cosx+c

(7> [cosxdx =sinx+c

(8 [tan xdx = ~Infoos x| +c

(9) [cotxdx =In|sinx|+c

(10) Isecxdx:ln|secx+tanx|+c

(1D Jcscxdx:ln|cscx—cotx|+c
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12 jseczxdx:tanerc
(13 J.csc2xdx:—cotx+c
14 Jsecx-tanxdx:secx+c

(15 J.cscx-cotxdx:—cschrc

(16> I*dx arcsinx +c

Vi-2

~dx = arctanx + ¢

an j1+x

(18 *dx farctan +c
at+x* a a

(19) | ———=dx= arcsm +c

e

1 1
(20) sz —azdx:Zln

X—a

+c

x+a

+c

—dx = ln‘x+ X td’
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UL 5y

%J.f(x)dsz(x)+c ,

(D j X (N )dx = i j ax“ f(x")dx = i j F(x")dx”

:lF(x“)+c
a

@) [X7nxds = [ nx)dinx = Finx+c
X

(3 Isinxf(cosx)dx

= —J (—sinx) f(cos x)dx

= —Jf(cos X)d cos x

=—-F(cosx)+c

4 Icosxf(sin X)dx =Jf(sin x)dsinx = F(sinx) +c¢



Epsanfnes — =5 £ &
1
1+x°

(5 J f(arctan x)dx = ‘[ f(arctan x)d arctan x

= F(arctan x) + ¢
1

(6) |——— f(arcsinx)dx = | f (arcsinx )d arcsin x
J -/ (aresin = [ (arsinx)a

= F(arcsinx) +c

D Ie*f(e")dx=_[f(e")dex =F(e")+c
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KA,
HI o — 7
By e
HI o + 57
K=,

HELVX? - a?

[ Lo

= i #t oot

4 x=asint (KIFEHN: 1-sin*x=cos’x )

A x=atant (UKHEN: 1+tan’ x =sec’x )

& x=asect (MK AN: sec’x—1=tan’x )
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AT /N

(1) AZRIFH I HARIF A 5
[udv =uv—[vdu =uv— [v'dx
T TR TR R 5 e AR AN [RS8 pR R A R i, AN
R IR AR 3 )
W BRERF: I X = =L 4R
(20 BRI A3 2 3

b

Iahudv =[u 1° - L vdu .

TERT B BERIME S AN E R 970 BAR 7 52 4 2R AU
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AR AR S 2K

40
»

(1) 22 ERRPRHOR &

d X

[ =1 (900 ()
(2) ZTFIRRECRT

L S ==1 ()9 ()



(2) u=f(x%y.2) BEMSIEN du ,

du =a—udx+% y+%dz
Ox oy Oz
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Rt Rt ik

(DAAMRBIABARE) BRECF(x,y) 765 (6. 0,)
HISAT IR B E LA R G HL, B F (.0 =0, Fi(x,5) #0,
MT7FE F(x,p) =0 15 1 B (X, vo) IR — SR A E—Hff € T —
ANFEES: H R A S SBIIR B Y = y(x) , B2
Yo=y(x), H

@& _ K

dc F]
(2 AMEE22ANEERE) BREF(xy,2) £
M (X4 ¥4520) [MFESRIRN B AL R 22, H F(M,)=0,
FA(My)#0, W5 F(x,p,2) =0 1653 M, {5 — 4Ry ifE—
Wi T — AL H A ES R SR sz = 2(x, p) ,
W 2, = 2(x, ) » HHA
0z F oz F)

Yy
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UL R sk

eD) %Hﬁ?ﬁiﬁliaq" , Atg
n=1
Ylgl <1, Sag" e8t: Mgz 10, Yag" Kk
n=1 n=1
w1
(2) P-9H Y —
n=1

2 p>1Hf, iip sl 4 p<1H, i%jﬁﬁ

n=1 11 n=1 1
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ARSI LR A

uﬁmﬁ%ﬁzzm,  lim 225l = p (0<p<ow) ,

—>aou

T 5 908

(D Hp< 1 B8

(2) Hp> 1 B R HLG

(3) Hp=1 I, AIETTEmMLHE

— M, A IETIRE AU I T fe R, ok, wARR

T, TN 22358 3 B AR A R R SIS -
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# (1) u, (u, > 0) [FIFFH 2 -

n

(D limu,=0;

n—wo

(2) u,2u,,

J”JZ( 1)"u, (u, >0) U8, U“JZ

(u, >0) KHL
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1 = n
LI A N
3) e nz:o( ) x", —l<x<l

4 ln(1+x =i ——1<x<1
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—Br R Jite
(D FruEE: Y+P(x)y = O(x)
2 0(x) £ 0 B, FRIZITIENIEFFIREMETTHE,
4 0(x) = 0 1, FRAEIHEL 4 p(e)y = 0 WH AT
(2) —BraAEFF IRy R MR A 3K
y= o fre U Q(x)ejp(x)dxdx + c}

(3) — B FFIREAE R T AR A 2 3
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SaFERRE

FHATHIA D
(1D n LR T R

D=0 NAFM; D=0c HiEEFM
(2 nedEFr IR Al

D#0< MfE—f#; D=0NFTMKTLE LM
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NG DFGRADE ORUNE

PRI

BT B AR

(D (4" =4

(2) (4+B)' =4"+B";
(3) (A4 =247 CARHED ;

(4) (4B =B"A"
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@) JibEA AR

WA BREnMTIRE, 4% M
(D |47 =4];

(2) |24=7x]4

H

(3) |45|=|]3
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(1) # AT, W 47w, B4 =4,
1
() FH AW, HA=0, W A4W, H(14)™ =EA*‘;

~ - 1
=

(3) HAwmE, W Al=|4""

(4) AT, WA =(47)"
(5) L FW 7K A, B AT, W) ABTTi, F(AB)' =B A"
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